Event Number	E-27-17
Event Title	Avondale Stormwater Improvements

 Issue Date
 4/18/2017 02:00:00 PM (ET)

 Close Date
 6/12/2017 02:00:00 PM (ET)

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total
ENCO, LLC	Hollywood	FL	6/12/2017 11:13:01 AM (ET)	84	\$3,189,326.33
C&W pipeline,inc.	Opa-locka	FL	6/12/2017 10:19:12 AM (ET)	84	\$3,389,782.50
Foster Marine Contractors, Inc.	Wellington	FL	6/12/2017 01:16:09 PM (ET)	84	\$3,578,000.00
Giannetti Contracting Corp.	Pompano Beach	FL	6/12/2017 01:49:11 PM (ET)	84	\$3,687,243.05
FLORIDA ENGINEERING AND DE	'Hialeah Gardens	FL	6/12/2017 11:46:46 AM (ET)	84	\$3,715,747.20
Man-Con Incorporated	Deerfield Beach	FL	6/12/2017 01:50:43 PM (ET)	84	\$3,728,989.00
Intercounty Engineering, Inc.	Pompano BEACH	FL	6/12/2017 01:44:08 PM (ET)	84	\$3,761,715.10
Southern Underground Industri	∢Miami	FL	6/12/2017 01:56:17 PM (ET)	84	\$3,792,555.30
Ric-Man International, Inc	Pompano Beach	FL	6/12/2017 01:55:18 PM (ET)	84	\$3,949,586.30
R.P. Utility & Excavation Corp	Hialeah	FL	6/12/2017 01:25:29 PM (ET)	84	\$3,999,999.99
Lanzo Construction Company (L	Deerfield Beach	FL	6/12/2017 01:47:06 PM (ET)	84	\$4,061,400.00

Please note: Lines Responded and Response Total only includes responses to specification. No alternate response data is included.

Avondale Stormwater Improvements	3		ENCO	, LLC	C&W pip	eline, Inc.	Foster Marine	Contractors, Inc.	Giannetti Co	ontracting Corp.	Fl Engineerir	ng & Development	Man-Cor	Incorporated
6/12/2017			3878 Sherid	dan Street	13101 N	W 42 Ave	3180 Fairla	ne Farms Rd	1801 N	IW 18th St	12076 N	IW 98 Avenue	3460 SV	V 11th Street
			Hollywood	, FL 33021	Opa-Lock	a, FL 33054	Wellingto	n, FL 33414	Pompano E	Beach, FL 33069	Hialeah Ga	ardens, FL 33018	Deerfield	Beach, FL 33442
Line Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
1 Mobilization	1	LS	\$43,000.00	\$43,000.00	\$260,000.00	\$260,000.00	\$163,000.00	\$163,000.00	\$360,000.00	\$360,000.00	\$67,000.00	\$67,000.00	\$54,151.00	\$54,151.00
2 Maintenance of Traffic	1	LS	\$14,500.00	\$14,500.00	\$46,000.00	\$46,000.00	\$28,000.00	\$28,000.00	\$36,000.00	\$36,000.00	\$222,000.00	\$222,000.00	\$73,770.00	\$73,770.00
3 Bonds and Insurance	1	LS	\$93,000.00	\$93,000.00	\$82,000.00	\$82,000.00	\$87,400.00	\$87,400.00	\$35,000.00	\$35,000.00	\$90,000.00	\$90,000.00	\$93,222.00	\$93,222.00
Permit Fees and Material														
Testing	1	AL	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
5 Construction Contingency	1	AL	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
6 Clear and Grade Swale	30800	SY	\$3.00	\$92,400.00	\$3.25	\$100,100.00	\$2.30	\$70,840.00	\$2.50	\$77,000.00	\$5.75	\$177,100.00	\$7.70	\$237,160.00
Remove and Dispose of Existing										_				
Asphalt Pavement	6003	SY	\$3.50	\$21,010.50	\$4.50	\$27,013.50	\$8.00	\$48,024.00	\$1.76	\$10,565.28	\$3.50	\$21,010.50	\$3.30	\$19,809.90
Remove and Dispose of Existing														
Drainage Structure	44	EA	\$600.00	\$26,400.00	\$65.00	\$2,860.00	\$400.00	\$17,600.00	\$516.00	\$22,704.00	\$464.50	\$20,438.00	\$958.00	\$42,152.00
9 Remove and Dispose of Existing			4								4			
Drainage Pipe	1545	LF	\$10.00	\$15,450.00	\$6.00	\$9,270.00	\$17.00	\$26,265.00	\$10.00	\$15,450.00	\$7.00	\$10,815.00	\$15.70	\$24,256.50
Remove and Dispose of Existing		l. <u>-</u>	45.00	4400.00	44.00	4000.00	400.00	40.540.00	42.20	425.00	4= 00	4400.00	40.00	470100
Concrete Curbing	80	LF	\$5.00	\$400.00	\$4.00	\$320.00	\$33.00	\$2,640.00	\$3.20	\$256.00	\$5.00	\$400.00	\$8.80	\$704.00
Remove and Dispose of Existing		CV	¢40.00	¢4 000 00	ć42.00	ć4 220 00	¢4.6.00	¢4.760.00	¢05.00	¢0.250.00	¢6.50	¢745.00	¢0.00	¢4 000 00
Concrete Aprons		SY	\$18.00	\$1,980.00	\$12.00	\$1,320.00	\$16.00	\$1,760.00	\$85.00	\$9,350.00	\$6.50	\$715.00	\$9.90	\$1,089.00
Remove and Dispose of Existing		CV	¢40.00	¢24.6.00	ć12.00	¢1.44.00	¢25.00	¢200.00	¢26.00	¢242.00	¢40.00	¢420.00	¢0.00	¢440.00
Concrete Sidewalk	12	SY	\$18.00	\$216.00	\$12.00	\$144.00	\$25.00	\$300.00	\$26.00	\$312.00	\$10.00	\$120.00	\$9.90	\$118.80
Remove and Dispose of Existing	19	ΓΛ	\$400.00	¢7.600.00	¢200.00	¢2.800.00	¢1 100 00	¢20,000,00	¢1 000 00	¢10,000,00	¢cer eo	¢12.454.50	¢1 100 00	¢20,000,00
Major Trees Remove and Dispose of Existing		EA	\$400.00	\$7,600.00	\$200.00	\$3,800.00	\$1,100.00	\$20,900.00	\$1,000.00	\$19,000.00	\$655.50	\$12,454.50	\$1,100.00	\$20,900.00
Minor Trees	5 4	EA	\$200.00	\$800.00	\$60.00	\$240.00	\$1,000.00	\$4,000.00	\$650.00	\$2,600.00	\$350.00	\$1,400.00	\$440.00	\$1,760.00
Remove and Dispose Existing	+	LA	\$200.00	3800.00	300.00	\$240.00	\$1,000.00	54,000.00	\$030.00	\$2,000.00	\$350.00	\$1,400.00	3440.00	\$1,700.00
15 Guardrail	16	LF	\$8.00	\$128.00	\$80.00	\$1,280.00	\$27.00	\$432.00	\$65.00	\$1,040.00	\$75.50	\$1,208.00	\$16.50	\$264.00
Remove and Reinstall Existing	10	Li	76.00	7120.00	980.00	71,200.00	\$27.00	Ç432.00	Ç05.00	71,040.00	\$75.50	\$1,200.00	Ç10.50	Ş20 4 .00
16 Sign	23	EA	\$120.00	\$2,760.00	\$150.00	\$3,450.00	\$1,350.00	\$31,050.00	\$150.00	\$3,450.00	\$57.50	\$1,322.50	\$165.00	\$3,795.00
Furnish and Install 'Tyne C'	23	LA	\$120.00	\$2,700.00	7130.00	75,450.00	71,330.00	\$31,030.00	\$150.00	73,430.00	\$57.50	71,322.30	Ç105.00	\$3,733.00
17 Drainage Structure	23	EA	\$3,500.00	\$80,500.00	\$4,200.00	\$96,600.00	\$3,400.00	\$78,200.00	\$3,388.00	\$77,924.00	\$3,080.00	\$70,840.00	\$2,889.00	\$66,447.00
Furnish and Install 48" Drainage	_		ψογουίου	\$60,560.00	ψ 1,1200100	φοσοισσ	ψο, ισσίσσ	ψ, σ,Ξσσ.σσ	ψο,οσο.οσ	ψ11,32 H00	ψ5,000.00	ψ <i>1</i> 6/8 10100	ψ2,003.00	φοσ, τ. τ. σο
18 Catch Basin	20	EA	\$4,000.00	\$80,000.00	\$4,900.00	\$98,000.00	\$4,100.00	\$82,000.00	\$4,590.00	\$91,800.00	\$3,670.00	\$73,400.00	\$3,797.00	\$75,940.00
Furnish and Install 60" Drainage			7 1,000.00	700,000	+ 1,000100	700,000	+ 1,200.00	70-700000	Ţ 1,000	70-700000	40,01010	4.0,.00.00	40,101100	ψ. σ/σ. τοισο
19 Catch Basin	5	EA	\$4,500.00	\$22,500.00	\$6,200.00	\$31,000.00	\$5,300.00	\$26,500.00	\$4,869.00	\$24,345.00	\$4,610.00	\$23,050.00	\$4,403.00	\$22,015.00
Furnish and Install 48" X 48"		1	, , , , , , , , , , , ,	. ,====	.,	,	, , , , , ,	,	. ,	, ,	. /= = = =	, ,,,,,,,,	. ,	. ,
20 Drainage Catch Basin	2	EA	\$5,000.00	\$10,000.00	\$5,500.00	\$11,000.00	\$5,000.00	\$10,000.00	\$4,942.00	\$9,884.00	\$3,670.00	\$7,340.00	\$4,324.00	\$8,648.00
Furnish and Install 48" Drainage	9													
Manhole	6	EA	\$4,000.00	\$24,000.00	\$5,225.00	\$31,350.00	\$4,300.00	\$25,800.00	\$4,323.00	\$25,938.00	\$3,455.00	\$20,730.00	\$4,324.00	\$25,944.00
Furnish and Install 60" Drainage	9													
Manhole	2	EA	\$6,000.00	\$12,000.00	\$6,500.00	\$13,000.00	\$5,000.00	\$10,000.00	\$6,145.00	\$12,290.00	\$4,370.00	\$8,740.00	\$4,950.00	\$9,900.00
Furnish and Install 15" RCP														
Drainage Pipe	725	LF	\$64.00	\$46,400.00	\$45.00	\$32,625.00	\$64.00	\$46,400.00	\$111.00	\$80,475.00	\$90.20	\$65,395.00	\$87.30	\$63,292.50
Furnish and Install 18" RCP														
Drainage Pipe	1448	LF	\$64.00	\$92,672.00	\$50.00	\$72,400.00	\$79.00	\$114,392.00	\$76.00	\$110,048.00	\$83.30	\$120,618.40	\$70.60	\$102,228.80
Furnish and Install 24" RCP														
Drainage Pipe	1246	LF	\$75.00	\$93,450.00	\$65.00	\$80,990.00	\$98.00	\$122,108.00	\$96.00	\$119,616.00	\$111.10	\$138,430.60	\$84.50	\$105,287.00
Furnish and Install 30" RCP														
Drainage Pipe	16	LF	\$95.00	\$1,520.00	\$80.00	\$1,280.00	\$308.00	\$4,928.00	\$116.00	\$1,856.00	\$250.00	\$4,000.00	\$162.00	\$2,592.00
Furnish and Install 36" RCP														
Drainage Pipe	588	LF	\$120.00	\$70,560.00	\$95.00	\$55,860.00	\$138.00	\$81,144.00	\$142.00	\$83,496.00	\$176.40	\$103,723.20	\$125.10	\$73,558.80

Avon	dale Stormwater Improvements 6/12/2017				ingineering, Inc. W. 18th St.		Southern Underground Ind. 3075 NW South River Drive		nternational, Inc N 27th Avenc		Excavation Corp 78th Ave, Ste 101	-	
	0, ==, =0=;				each, FL 33069		FL 33142		Beach, FL 33069		h, FL 33015		Beach, FL 33441
Line	Description	QTY	иом	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
	Mobilization	1	LS	\$66,100.00	\$66,100.00	\$325,000.00	\$325,000.00	\$411,000.00	\$411,000.00	\$700,000.00	\$700,000.00	\$351,681.00	\$351,681.00
	Maintenance of Traffic	1	LS	\$37,500.00	\$37,500.00	\$20,000.00	\$20,000.00	\$8,600.00	\$8,600.00	\$746,080.26	\$746,080.26	\$25,000.00	\$25,000.00
3	Bonds and Insurance	1	LS	\$126,600.00	\$126,600.00	\$96,000.00	\$96,000.00	\$45,000.00	\$45,000.00	\$99,900.00	\$99,900.00	\$99,000.00	\$99,000.00
	Permit Fees and Material			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1 /	, , , , , , , , ,	, -,	, -,	,,	, ,	, , , , , , , , ,	, , , , , , , ,
4	Testing	1	AL	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
5	Construction Contingency	1	AL	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
6	Clear and Grade Swale	30800		\$3.30	\$101,640.00	\$4.10	\$126,280.00	\$4.90	\$150,920.00	\$2.00	\$61,600.00	\$1.00	\$30,800.00
_	Remove and Dispose of Existing												
'	Asphalt Pavement	6003	SY	\$54.00	\$324,162.00	\$4.60	\$27,613.80	\$4.00	\$24,012.00	\$1.00	\$6,003.00	\$3.00	\$18,009.00
8	Remove and Dispose of Existing												
8	Drainage Structure	44	EA	\$754.00	\$33,176.00	\$880.00	\$38,720.00	\$390.00	\$17,160.00	\$38.40	\$1,689.60	\$707.00	\$31,108.00
9	Remove and Dispose of Existing												
9	Drainage Pipe	1545	LF	\$14.80	\$22,866.00	\$16.00	\$24,720.00	\$9.70	\$14,986.50	\$0.34	\$525.30	\$27.00	\$41,715.00
10	Remove and Dispose of Existing												
10	Concrete Curbing	80	LF	\$33.00	\$2,640.00	\$160.00	\$12,800.00	\$8.20	\$656.00	\$1.62	\$129.60	\$8.00	\$640.00
11	Remove and Dispose of Existing												
11	Concrete Aprons	110	SY	\$42.00	\$4,620.00	\$130.00	\$14,300.00	\$11.00	\$1,210.00	\$2.12	\$233.20	\$50.00	\$5,500.00
12	Remove and Dispose of Existing												
12	Concrete Sidewalk	12	SY	\$140.00	\$1,680.00	\$37.00	\$444.00	\$12.00	\$144.00	\$2.16	\$25.92	\$26.00	\$312.00
13	Remove and Dispose of Existing												
13	Major Trees	19	EA	\$240.00	\$4,560.00	\$450.00	\$8,550.00	\$460.00	\$8,740.00	\$720.00	\$13,680.00	\$500.00	\$9,500.00
14	Remove and Dispose of Existing												
	Minor Trees	4	EA	\$240.00	\$960.00	\$56.00	\$224.00	\$290.00	\$1,160.00	\$360.00	\$1,440.00	\$300.00	\$1,200.00
15	Remove and Dispose Existing												
	Guardrail	16	LF	\$79.00	\$1,264.00	\$19.00	\$304.00	\$74.00	\$1,184.00	\$65.30	\$1,044.80	\$70.00	\$1,120.00
16	Remove and Reinstall Existing												
	•	23	EA	\$400.00	\$9,200.00	\$380.00	\$8,740.00	\$85.00	\$1,955.00	\$100.00	\$2,300.00	\$45.00	\$1,035.00
17	Furnish and Install 'Type C'												
	Drainage Structure	23	EA	\$3,400.00	\$78,200.00	\$2,800.00	\$64,400.00	\$2,000.00	\$46,000.00	\$1,129.80	\$25,985.40	\$3,000.00	\$69,000.00
18	Furnish and Install 48" Drainage			4	40			4		4	4		
	Catch Basin	20	EA	\$4,050.00	\$81,000.00	\$3,300.00	\$66,000.00	\$2,900.00	\$58,000.00	\$1,685.18	\$33,703.60	\$4,500.00	\$90,000.00
19	Furnish and Install 60" Drainage	_		4= 200 00	40.5 000 00	46,000,00	42.4.500.00	40.500.00	417.500.00	44 707 00	40.005.55	45 000 00	425 222 22
	Catch Basin	5	EA	\$5,200.00	\$26,000.00	\$6,900.00	\$34,500.00	\$3,500.00	\$17,500.00	\$1,785.33	\$8,926.65	\$5,000.00	\$25,000.00
20	Furnish and Install 48" X 48"	_		ĆF 400 00	¢10,200,00	ć 7 100 00	¢14.200.00	¢2.400.00	¢c 000 00	ć1 000 00	ć2 000 00	ć4 F00 00	¢0,000,00
	Drainage Catch Basin	2	EA	\$5,100.00	\$10,200.00	\$7,100.00	\$14,200.00	\$3,400.00	\$6,800.00	\$1,000.00	\$2,000.00	\$4,500.00	\$9,000.00
21	Furnish and Install 48" Drainage	_	_ A	¢3 c00 00	¢31 600 00	¢4 F00 00	¢27,000,00	¢2 800 00	¢16 900 00	¢1 42F 61	¢9.612.66	¢F 000 00	¢30,000,00
	Manhole Furnish and Install 60" Drainage	O	EA	\$3,600.00	\$21,600.00	\$4,500.00	\$27,000.00	\$2,800.00	\$16,800.00	\$1,435.61	\$8,613.66	\$5,000.00	\$30,000.00
22	Manhole	2	EA	\$4,900.00	\$9,800.00	\$7,200.00	\$14,400.00	\$4,500.00	\$9,000.00	\$1,964.78	\$3,929.56	\$5,400.00	\$10,800.00
	Furnish and Install 15" RCP		EA	\$4,900.00	\$9,600.00	\$7,200.00	\$14,400.00	\$4,500.00	\$9,000.00	\$1,904.76	\$3,929.50	\$3,400.00	\$10,800.00
23		725	LF	\$62.00	\$44,950.00	\$61.00	\$44,225.00	\$69.00	\$50,025.00	\$38.80	\$28,130.00	\$103.00	\$74,675.00
	Furnish and Install 18" RCP	723	Li	302.00	\$44,550.00	\$01.00	344,223.00	\$05.00	\$30,023.00	736.60	720,130.00	\$103.00	\$74,073.00
24	Drainage Pipe	1448	LF	\$65.00	\$94,120.00	\$71.00	\$102,808.00	\$64.00	\$92,672.00	\$44.20	\$64,001.60	\$113.00	\$163,624.00
	Furnish and Install 24" RCP	2.10		Ç03.00	Ç3-1,120.00	Ç, 1.00	Ţ 132,000.00	\$51.50	Ų32,072.00	ŷ 11.20	70 1,001.00	Ţ113.00	Ç103,02 1.00
25	Drainage Pipe	1246	LF	\$72.00	\$89,712.00	\$85.00	\$105,910.00	\$81.00	\$100,926.00	\$53.95	\$67,221.70	\$133.00	\$165,718.00
	Furnish and Install 30" RCP			ψ. 2.00	Ç33,: 12.00	\$55.50	Ç100,010.00	Ç52.00	ψ 200,5 20.000	ψ55.55	Ç0.,221.70	\$255.00	ψ200 <i>),</i> 20.00
26	Drainage Pipe	16	LF	\$150.00	\$2,400.00	\$170.00	\$2,720.00	\$110.00	\$1,760.00	\$66.04	\$1,056.64	\$253.00	\$4,048.00
	Furnish and Install 36" RCP			,	, _,	,	,-,,,,-	, ==3.30	+-,: 11100	7.5.5.	7-,	, =====	+ 1,2 12,00
27		588	LF	\$135.00	\$79,380.00	\$170.00	\$99,960.00	\$140.00	\$82,320.00	\$82.15	\$48,304.20	\$203.00	\$119,364.00

Avon	dale Stormwater Improvements			EN	CO, LLC	C&W p	oipeline, Inc.	Foster Marin	e Contractors, Inc.	Giannetti (Contracting Corp.	FI Engineering	& Development		n Incorporated
	6/12/2017			3878 She	eridan Street	13101	NW 42 Ave	3180 Fair	lane Farms Rd	1801	NW 18th St	12076 NW	98 Avenue	3460 SV	V 11th Street
				Hollywo	od, FL 33021	Opa-Lo	cka, FL 33054	Welling	ton, FL 33414	Pompano	Beach, FL 33069	Hialeah Gard	lens, FL 33018	Deerfield Beach, FL 33442	
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
28	Furnish and Install 18" RCP														
20	Exfiltration Trench	2304	LF	\$141.47	\$325,946.88	\$110.00	\$253,440.00	\$122.00	\$281,088.00	\$118.00	\$271,872.00	\$125.30	\$288,691.20	\$121.40	\$279,705.60
29	Furnish and Install 24" RCP														
23		440	LF	\$141.47	\$62,246.80	\$120.00	\$52,800.00	\$142.00	\$62,480.00	\$133.00	\$58,520.00	\$140.50	\$61,820.00	\$129.40	\$56,936.00
30	Furnish and Install 48" Control														
	Structure	1	EA	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00	\$6,800.00	\$6,800.00	\$5,512.00	\$5,512.00	\$3,500.00	\$3,500.00	\$4,192.00	\$4,192.00
31	Furnish and Install 48" Conflict	_		4	4	4	4	4	4	4	4	4	4	4	4
	Structure	1	EA	\$5,000.00	\$5,000.00	\$14,500.00	\$14,500.00	\$9,200.00	\$9,200.00	\$5,484.00	\$5,484.00	\$7,200.00	\$7,200.00	\$4,495.00	\$4,495.00
32	Furnish and Install 60" Conflict		F.	¢0,000,00	¢0.000.00	¢4.6.000.00	¢4.6.000.00	¢0,000,00	¢0,000,00	ćo 452 00	Ć0 452 00	¢0.000.00	¢0,500,00	ć 4 7 00 00	ć4 7 00 00
	Structure	1	EA	\$8,000.00	\$8,000.00	\$16,800.00	\$16,800.00	\$9,900.00	\$9,900.00	\$9,452.00	\$9,452.00	\$9,600.00	\$9,600.00	\$4,789.00	\$4,789.00
33	Furnish and Install 24" Tideflex	1	EA	\$16,252.57	¢16 252 57	\$8,000.00	¢0,000,00	¢16 000 00	¢16,000,00	¢1E 463.00	¢1F 462 00	¢16.750.00	¢16.750.00	¢12.0F2.00	¢12.052.00
	Backflow Device Furnish and Install 36" Tideflex	1	EA	\$10,252.57	\$16,252.57	\$6,000.00	\$8,000.00	\$16,000.00	\$16,000.00	\$15,463.00	\$15,463.00	\$16,750.00	\$16,750.00	\$12,952.00	\$12,952.00
34	Backflow Device	1	EA	\$25,439.06	\$25,439.06	\$12,000.00	\$12,000.00	\$24,283.00	\$24,283.00	\$24,420.00	\$24,420.00	\$27,000.00	\$27,000.00	\$22,038.00	\$22,038.00
	Furnish and Install Concrete	<u> </u>		Ç23, 133.00	Ç23,133.00	Ţ12,000.00	Ģ12,000.00	Ψ2 1,203.00	ÇZ 1,203.00	Ψ2 1, 120.00	Ψ2 1, 120.00	<i>\$27,000.00</i>	727,000.00	Ç22,030.00	\$22,030.00
35	Structure for Backflow Device														
	(6'x6')	1	EA	\$12,000.00	\$12,000.00	\$18,000.00	\$18,000.00	\$13,000.00	\$13,000.00	\$10,491.00	\$10,491.00	\$12,500.00	\$12,500.00	\$20,492.00	\$20,492.00
	Furnish and Install Concrete			, ,	, , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1 -7	, -,	, -,	, ,, ,	, ,, ,	, , , , , , , , , , , , , , , , , , , ,	, , , , , , , , , , , , , , , , , , , ,	, ,,	1 -7
36	Structure for Backflow Device														
	(7'x7')	1	EA	\$15,000.00	\$15,000.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00	\$12,122.00	\$12,122.00	\$23,200.00	\$23,200.00	\$26,877.00	\$26,877.00
37	Furnish and Install Wet Well														
37	Structure	1	LS	\$20,000.00	\$20,000.00	\$28,900.00	\$28,900.00	\$70,000.00	\$70,000.00	\$60,000.00	\$60,000.00	\$48,700.00	\$48,700.00	\$66,000.00	\$66,000.00
38	Furnish and Install Pumps,														
36	Components, and Assembly	1	LS	\$342,541.40	\$342,541.40	\$125,000.00	\$125,000.00	\$146,000.00	\$146,000.00	\$219,432.00	\$219,432.00	\$218,600.00	\$218,600.00	\$349,800.00	\$349,800.00
39	Furnish and Install Pump														
	Discharge Structure	1	LS	\$9,000.00	\$9,000.00	\$17,500.00	\$17,500.00	\$33,000.00	\$33,000.00	\$25,000.00	\$25,000.00	\$18,000.00	\$18,000.00	\$27,500.00	\$27,500.00
40	Furnish and Install Pump Intake	_		40.000	4	4	4		4			4	4		4
	Structure	1	LS	\$9,629.42	\$9,629.42	\$15,000.00	\$15,000.00	\$26,000.00	\$26,000.00	\$20,000.00	\$20,000.00	\$15,150.00	\$15,150.00	\$22,000.00	\$22,000.00
41	Connect to Existing Drainage		F.	¢000 00	¢0.000.00	ć 4 500 00	¢40 F00 00	¢050.00	¢40.450.00	ća 222 00	ć25 cc2 oo	Ć4 400 00	¢42.400.00	¢2.040.00	¢42,420,00
		11	EA	\$800.00	\$8,800.00	\$4,500.00	\$49,500.00	\$950.00	\$10,450.00	\$2,333.00	\$25,663.00	\$1,100.00	\$12,100.00	\$3,949.00	\$43,439.00
42	Connect to Existing Drainage	2	EA	\$800.00	ć2 400 00	\$2,500.00	ć7 F00 00	\$2,500.00	ć7 F00 00	\$4,150.00	¢12.4F0.00	\$838.70	ć2 F1C 10	\$4,499.00	¢12.407.00
	Manhole Furnish and Install Pollution	3	EA	\$600.00	\$2,400.00	\$2,500.00	\$7,500.00	\$2,500.00	\$7,500.00	\$4,150.00	\$12,450.00	\$030.70	\$2,516.10	\$4,499.00	\$13,497.00
43		24	EA	\$500.00	\$12,000.00	\$1,200.00	\$28,800.00	\$1,000.00	\$24,000.00	\$934.00	\$22,416.00	\$315.70	\$7,576.80	\$910.00	\$21,840.00
44	Offset Existing Watermain	1	EA	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$7,500.00	\$7,500.00	\$3,750.00	\$3,750.00	\$5,100.00	\$5,100.00	\$4,521.00	\$4,521.00
		•	1 1	+ 5,000.00	φ3,000.00	+ 2,555.30	ψ5,555.00	Ţ.,555.50	ψ.,σσσ.σσ	+ 3,. 55.00	\$5,755.00	7-,200.00	ψ5,255.00	+ 1,522.50	ψ .,321.00
45	Clean Existing Drainage System	1	LS	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$67,000.00	\$67,000.00	\$16,628.00	\$16,628.00	\$33,500.00	\$33,500.00	\$24,646.00	\$24,646.00
46		35	EA	\$200.00	\$7,000.00	\$1,400.00	\$49,000.00	\$1,300.00	\$45,500.00	\$975.00	\$34,125.00	\$1,110.00	\$38,850.00	\$699.00	\$24,465.00
47	Furnish & Install Outfall Endwall	2	EA	\$4,500.00	\$9,000.00	\$5,000.00	\$10,000.00	\$7,000.00	\$14,000.00	\$11,516.00	\$23,032.00	\$5,700.00	\$11,400.00	\$3,868.00	\$7,736.00
48	FPL Power Upgrades: Riser,														
48	handhole	1	AL	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
	Installation of UG Secondary														
49	service conduit/wire to new														
	pole	1	LS	\$50,450.00	\$50,450.00	\$43,000.00	\$43,000.00	\$40,000.00	\$40,000.00	\$28,000.00	\$28,000.00	\$52,350.00	\$52,350.00	\$30,740.00	\$30,740.00
50	Equipment racks, pull boxes,				,	.							_		
	terminal boxes	1	LS	\$25,000.00	\$25,000.00	\$12,000.00	\$12,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00	\$10,700.00	\$10,700.00	\$8,800.00	\$8,800.00
51	Electrical Equipment			405 5	,			440.555.5		466	1	44.000	A	400 000 00	*****
	(meter/main/Pnlbd)	1	LS	\$25,000.00	\$25,000.00	\$14,000.00	\$14,000.00	\$18,000.00	\$18,000.00	\$60,000.00	\$60,000.00	\$11,000.00	\$11,000.00	\$66,000.00	\$66,000.00
52	Generator in Weatherproof	4	1.6	6104 473 33	6404 473 33	Ć43E 000 00	Ć42F 000 00	¢442.000.00	6442.000.00	¢126 000 00	¢436.000.00	Ć435 500 00	¢425 500 00	¢420.500.50	6420 600 30
<u> </u>	enclosure & ATS	1	LS	\$101,172.30	\$101,172.30	\$125,000.00	\$125,000.00	\$112,000.00	\$112,000.00	\$126,000.00	\$126,000.00	\$125,500.00	\$125,500.00	\$138,600.00	\$138,600.00

Avor	ndale Stormwater Improvements 6/12/2017				Engineering, Inc. W. 18th St.		nderground Ind. outh River Drive		nternational, Inc W 27th Avenc		& Excavation Corp 78th Ave, Ste 101		onstruction Co. SE 5th Ct.
				Pompano E	each, FL 33069	Miami	, FL 33142	Pompano	Beach, FL 33069		ah, FL 33015	Deerfield	Beach, FL 33441
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
28	Furnish and Install 18" RCP Exfiltration Trench	2304	LF	\$120.00	\$276,480.00	\$110.00	\$253,440.00	\$130.00	\$299,520.00	\$108.86	\$250,813.44	\$140.00	\$322,560.00
29	Furnish and Install 24" RCP Exfiltration Trench	440	LF	\$180.00	\$79,200.00	\$130.00	\$57,200.00	\$150.00	\$66,000.00	\$121.79	\$53,587.60	\$154.00	\$67,760.00
30	Furnish and Install 48" Control Structure	1	EA	\$5,400.00	\$5,400.00	\$6,400.00	\$6,400.00	\$3,200.00	\$3,200.00	\$1,432.92	\$1,432.92	\$5,300.00	\$5,300.00
31	Furnish and Install 48" Conflict Structure	1	EA	\$5,400.00	\$5,400.00	\$6,400.00	\$6,400.00	\$3,600.00	\$3,600.00	\$1,389.46	\$1,389.46	\$4,000.00	\$4,000.00
32	Furnish and Install 60" Conflict Structure	1	EA	\$6,000.00	\$6,000.00	\$6,900.00	\$6,900.00	\$4,600.00	\$4,600.00	\$1,718.27	\$1,718.27	\$5,400.00	\$5,400.00
33	Furnish and Install 24" Tideflex Backflow Device	1	EA	\$14,870.00	\$14,870.00	\$19,000.00	\$19,000.00	\$14,000.00	\$14,000.00	\$11,294.30	\$11,294.30	\$16,600.00	\$16,600.00
34	Furnish and Install 36" Tideflex Backflow Device	1	EA	\$24,800.00	\$24,800.00	\$29,000.00	\$29,000.00	\$23,000.00	\$23,000.00	\$19,763.70	\$19,763.70	\$27,000.00	\$27,000.00
35	Furnish and Install Concrete Structure for Backflow Device (6'x6')	1	EA	\$11,500.00	\$11,500.00	\$15,000.00	\$15,000.00	\$13,000.00	\$13,000.00	\$6,369.16	\$6,369.16	\$17,000.00	\$17,000.00
36	Furnish and Install Concrete Structure for Backflow Device (7'x7')	1	EA	\$13,500.00	\$13,500.00	\$16,000.00	\$16,000.00	\$16,000.00	\$16,000.00	\$8,440.09	\$8,440.09	\$21,200.00	\$21,200.00
37	Furnish and Install Wet Well Structure	1	LS	\$13,300.00	\$13,300.00	\$50,000.00	\$50,000.00	\$52,000.00	\$52,000.00	\$21,000.00	\$21,000.00	\$65,400.00	\$65,400.00
38	Furnish and Install Pumps, Components, and Assembly	1	LS	\$248,000.00	\$248,000.00	\$266,800.00	\$266,800.00	\$320,000.00	\$320,000.00	\$168,194.92	\$168,194.92	\$220,000.00	\$220,000.00
39	Furnish and Install Pump Discharge Structure	1	LS	\$24,000.00	\$24,000.00	\$18,000.00	\$18,000.00	\$22,000.00	\$22,000.00	\$5,442.05	\$5,442.05	\$27,000.00	\$27,000.00
40	Furnish and Install Pump Intake Structure	1	LS	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$18,000.00	\$18,000.00	\$4,436.79	\$4,436.79	\$21,000.00	\$21,000.00
41	Connect to Existing Drainage Pipe	11	EA	\$1,870.00	\$20,570.00	\$2,600.00	\$28,600.00	\$2,600.00	\$28,600.00	\$2,715.27	\$29,867.97	\$1,700.00	\$18,700.00
42	Connect to Existing Drainage Manhole	3	EA	\$3,850.00	\$11,550.00	\$4,400.00	\$13,200.00	\$2,600.00	\$7,800.00	\$2,715.27	\$8,145.81	\$2,300.00	\$6,900.00
43	Furnish and Install Pollution Retardant Baffle	24	EA	\$700.00	\$16,800.00	\$1,300.00	\$31,200.00	\$830.00	\$19,920.00	\$166.97	\$4,007.28	\$915.00	\$21,960.00
44	Offset Existing Watermain	1	EA	\$7,300.00	\$7,300.00	\$5,800.00	\$5,800.00	\$4,600.00	\$4,600.00	\$1,049.40	\$1,049.40	\$8,200.00	\$8,200.00
45	Clean Existing Drainage System	1	LS	\$10,888.00	\$10,888.00	\$26,430.00	\$26,430.00	\$26,000.00	\$26,000.00	\$44,500.00	\$44,500.00	\$27,000.00	\$27,000.00
46	Adjust Sewer Laterals	35	EA	\$1,054.00	\$36,890.00	\$600.00	\$21,000.00	\$800.00	\$28,000.00	\$160.24	\$5,608.40	\$700.00	\$24,500.00
47		2	EA	\$7,440.00	\$14,880.00	\$3,800.00	\$7,600.00	\$12,000.00	\$24,000.00	\$444.67	\$889.34	\$4,300.00	\$8,600.00
48	FPL Power Upgrades: Riser, handhole	1	AL	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
49	Installation of UG Secondary service conduit/wire to new pole	1	LS	\$43,156.00	\$43,156.00	\$17,000.00	\$17,000.00	\$41,000.00	\$41,000.00	\$35,963.00	\$35,963.00	\$30,500.00	\$30,500.00
50	Equipment racks, pull boxes, terminal boxes	1	LS	\$10,719.00	\$10,719.00	\$29,000.00	\$29,000.00	\$27,000.00	\$27,000.00	\$8,932.00	\$8,932.00	\$8,700.00	\$8,700.00
51	Electrical Equipment (meter/main/Pnlbd)	1	LS	\$11,000.00	\$11,000.00	\$29,000.00	\$29,000.00	\$11,000.00	\$11,000.00	\$9,172.00	\$9,172.00	\$65,000.00	\$65,000.00
52	Generator in Weatherproof enclosure & ATS	1	LS	\$98,000.00	\$98,000.00	\$121,800.00	\$121,800.00	\$173,000.00	\$173,000.00	\$96,343.70	\$96,343.70	\$140,000.00	\$140,000.00

1-1-1	12076 NW 98 Avenue	2462 6144 4441 64
Hollywood Fl 33021 Ona-locks Fl 33054 Wellington Fl 32414 Domano Rosch Fl 32050 Li		3460 SW 11th Street
Tionywood, i.e. 3302.1 Opa-Locka, i.e. 33034 weimigton, i.e. 33414 rompalio beach, i.e. 33003 ni	aleah Gardens, FL 33018	Deerfield Beach, FL 33442
Line Description QTY UOM Unit Extended Unit Extended Unit Extended Unit Extended Unit	it Extended	Unit Extended
RTU Telemetry system and		
Rohn tower/antenna 1 LS \$27,500.00 \$27,500.00 \$48,000.00 \$21,000.00 \$21,000.00 \$15,000.00 \$15,000.00 \$8	\$,700.00 \$8,700.00	\$16,500.00 \$16,500
54 Pump Station Control Panel 1 LS \$16,500.00 \$16,500.00 \$35,000.00 \$33,000.00 \$33,000.00 \$33,000.00 \$82,000.00 \$82,000.00 \$111	,750.00 \$111,750.00	\$136,400.00 \$136,400
55		
Solution Cable, conduit, and grounding 1 LS \$6,500.00 \$6,500.00 \$52,000.00 \$52,000.00 \$30,000.00 \$30,000.00 \$8,000.00 \$8,000.00 \$44	,000.00 \$44,000.00	\$8,800.00 \$8,800
Field instruments (floats, level		
instruments) 1 LS \$5,500.00 \$5,500.00 \$18,500.00 \$10,500.00 \$10,500.00 \$6,000.00 \$8	\$,300.00 \$8,300.00	\$6,600.00 \$6,600
57 Programming PLC & SCADA 1 LS \$23,016.40 \$21,500.00 \$21,500.00 \$12,500.00 \$12,000.00 \$12,000.00 \$12,000.00	,500.00 \$22,500.00	\$13,200.00 \$13,200
58 Furnish and Place Asphalt		
Overlay (1") (Restoration Area) 13800 SY \$8.22 \$113,436.00 \$9.00 \$124,200.00 \$7.30 \$100,740.00 \$6.60 \$91,080.00	\$7.10 \$97,980.00	\$7.07 \$97,566
Furnish and Place Asphalt		
59 Overlay (1") (Remaining		
Roadways) 20700 SY \$8.22 \$170,154.00 \$9.25 \$191,475.00 \$7.30 \$151,110.00 \$6.60 \$136,620.00	\$7.10 \$146,970.00	\$7.07 \$146,349
Furnish and Place Asphalt		
60 Pavement Type S-1 1st Lift (1-		
1/4") 6000 SY \$10.45 \$62,700.00 \$10.25 \$61,500.00 \$10.50 \$63,000.00 \$8.30 \$49,800.00	\$12.00 \$72,000.00	\$10.03 \$60,180
Furnish and Place Asphalt		
61 Pavement Type S-III 2nd Lift		
(3/4") 6000 SY \$8.00 \$48,000.00 \$9.50 \$57,000.00 \$8.00 \$48,000.00 \$36,000.00	\$7.00 \$42,000.00	\$7.65 \$45,900
62 Furnish and Place Limerock		
Base (8") 6000 SY \$25.00 \$150,000.00 \$12.50 \$75,000.00 \$18.00 \$108,000.00 \$15.43 \$92,580.00	\$12.00 \$72,000.00	\$14.66 \$87,960
63		
Stabilization of Subgrade (12") 6000 SY \$12.00 \$72,000.00 \$11.00 \$66,000.00 \$6.00 \$36,000.00 \$3.85 \$23,100.00	\$7.05 \$42,300.00	\$3.03 \$18,180
Asphalt Driveway Restoration 9300 SY \$10.00 \$93,000.00 \$20.00 \$186,000.00 \$33.00 \$306,900.00 \$34.60 \$321,780.00	\$25.10 \$233,430.00	\$24.12 \$224,316
65		
Concrete Driveway Restoration 45 SY \$54.00 \$2,430.00 \$65.00 \$2,925.00 \$87.00 \$3,915.00 \$77.00 \$3,465.00	\$56.20 \$2,529.00	\$58.00 \$2,610
66		
Asphalt Driveway Overlay (1") 5100 SY \$10.00 \$51,000.00 \$9.25 \$47,175.00 \$9.00 \$45,900.00 \$12.50 \$63,750.00	\$9.50 \$48,450.00	\$8.94 \$45,594
Concrete Sidewalk Restoration 12 SY \$54.00 \$648.00 \$90.00 \$1,080.00 \$110.00 \$1,320.00 \$190.00 \$2,280.00	\$55.00 \$660.00	\$58.00 \$696
	\$345.50 \$7,601.00	\$644.00 \$14,168
69 Concrete Aprons 30 EA \$250.00 \$7,500.00 \$800.00 \$24,000.00 \$760.00 \$22,800.00 \$662.00 \$19,860.00	\$682.70 \$20,481.00	\$550.00 \$16,500
Concrete Slab at Pump Station 100 SY \$60.00 \$6,000.00 \$140.00 \$14,000.00 \$110.00 \$11,000.00 \$17,500.00	\$61.80 \$6,180.00	\$165.00 \$16,500
Furnish and Place Temporary Furnish and Place Temporary		
' ¹ Striping 5846 LF \$1.00 \$5,846.00 \$2.00 \$11,692.00 \$1.00 \$5,846.00 \$1.50 \$8,769.00	\$1.25 \$7,307.50	\$0.30 \$1,753
72 Furnish & Place 6"		
Thermoplastic (double yellow) 3373 LF \$2.00 \$6,746.00 \$4.00 \$13,492.00 \$3.00 \$10,119.00 \$1.85 \$6,240.05	\$1.50 \$5,059.50	\$2.00 \$6,746
Furnish & Place 6"		
73 Thermoplastic yellow 10'-30'		
skip 1020 LF \$1.00 \$1,020.00 \$3.00 \$3,060.00 \$2.00 \$2,040.00 \$0.92 \$938.40	\$0.80 \$816.00	\$1.00 \$1,020
74 Furnish & Place 18"		
Thermoplastic (solid yellow) 83 LF \$3.00 \$249.00 \$4.00 \$332.00 \$4.00 \$332.00 \$5.00 \$415.00	\$2.30 \$190.90	\$2.20 \$182
Furnish & Place 12"		
75 Thermoplastic (crosswalk) 874 LF \$3.00 \$2,622.00 \$8.00 \$6,992.00 \$3.00 \$2,622.00 \$3.20 \$2,796.80	\$1.50 \$1,311.00	\$1.65 \$1,442

Avon	idale Stormwater Improvements 6/12/2017				Ingineering, Inc. W. 18th St.		derground Ind. uth River Drive		nternational, Inc N 27th Avenc		Excavation Corp 78th Ave, Ste 101	Lanzo Construction Co. 125 SE 5th Ct.	
				Pompano B	each, FL 33069	Miami	, FL 33142	Pompano	Beach, FL 33069	Hialea	h, FL 33015	Deerfield E	Beach, FL 33441
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
53	RTU Telemetry system and Rohn tower/antenna	1	LS	\$26,000.00	\$26,000.00	\$26,000.00	\$26,000.00	\$6,500.00	\$6,500.00	\$25,000.00	\$25,000.00	\$16,000.00	\$16,000.00
54	Pump Station Control Panel	1	LS	\$39,000.00	\$39,000.00	\$125,000.00	\$125,000.00	\$70,000.00	\$70,000.00	\$85,000.00	\$85,000.00	\$89,000.00	\$89,000.00
55	Cable, conduit, and grounding	1	LS	\$43,123.00	\$43,123.00	\$15,000.00	\$15,000.00	\$53,000.00	\$53,000.00	\$38,936.00	\$38,936.00	\$8,700.00	\$8,700.00
56	Field instruments (floats, level instruments)	1	LS	\$10,400.00	\$10,400.00	\$12,000.00	\$12,000.00	\$14,000.00	\$14,000.00	\$21,200.00	\$21,200.00	\$6,500.00	\$6,500.00
57	Programming PLC & SCADA	1	LS	\$15,600.00	\$15,600.00	\$5,900.00	\$5,900.00	\$7,600.00	\$7,600.00	\$7,614.02	\$7,614.02	\$13,000.00	\$13,000.00
58	Furnish and Place Asphalt Overlay (1") (Restoration Area)	13800	SY	\$8.94	\$123,372.00	\$9.00	\$124,200.00	\$7.60	\$104,880.00	\$10.25	\$141,450.00	\$8.00	\$110,400.00
59	Furnish and Place Asphalt Overlay (1") (Remaining Roadways)	20700	SY	\$8.94	\$185,058.00	\$9.00	\$186,300.00	\$7.60	\$157,320.00	\$10.25	\$212,175.00	\$8.00	\$165,600.00
60	Furnish and Place Asphalt Pavement Type S-1 1st Lift (1- 1/4")	6000	SY	\$17.82	\$106,920.00	\$6.40	\$38,400.00	\$12.00	\$72,000.00	\$5.17	\$31,020.00	\$13.00	\$78,000.00
61	Furnish and Place Asphalt Pavement Type S-III 2nd Lift (3/4")	6000	SY	\$13.50	\$81,000.00	\$4.65	\$27,900.00	\$9.50	\$57,000.00	\$3.11	\$18,660.00	\$11.00	\$66,000.00
62	Furnish and Place Limerock Base (8")	6000	SY	\$12.72	\$76,320.00	\$10.80	\$64,800.00	\$15.00	\$90,000.00	\$6.77	\$40,620.00	\$21.00	\$126,000.00
63	Stabilization of Subgrade (12")	6000	SY	\$4.62	\$27,720.00	\$4.00	\$24,000.00	\$3.00	\$18,000.00	\$7.45	\$44,700.00	\$3.00	\$18,000.00
64	Asphalt Driveway Restoration	9300	SY	\$15.90	\$147,870.00	\$31.00	\$288,300.00	\$28.00	\$260,400.00	\$14.48	\$134,664.00	\$30.00	\$279,000.00
65	Concrete Driveway Restoration	45	SY	\$104.40	\$4,698.00	\$170.00	\$7,650.00	\$49.00	\$2,205.00	\$53.87	\$2,424.15	\$75.00	\$3,375.00
66	Asphalt Driveway Overlay (1")	5100	SY	\$15.90	\$81,090.00	\$7.90	\$40,290.00	\$13.00	\$66,300.00	\$6.88	\$35,088.00	\$35.00	\$178,500.00
67	Concrete Sidewalk Restoration	12	SY	\$60.00	\$720.00	\$170.00	\$2,040.00	\$49.00	\$588.00	\$175.29	\$2,103.48	\$89.00	\$1,068.00
68 69	Asphalt Aprons Concrete Aprons	22 30	EA EA	\$324.00 \$381.60	\$7,128.00 \$11,448.00	\$340.00 \$680.00	\$7,480.00 \$20,400.00	\$750.00 \$660.00	\$16,500.00 \$19,800.00	\$500.00 \$500.00	\$11,000.00 \$15,000.00	\$38.00 \$62.00	\$836.00 \$1,860.00
70	Concrete Slab at Pump Station	100	SY	\$368.49	\$36,849.00	\$140.00	\$14,000.00	\$74.00	\$7,400.00	\$28.40	\$2,840.00	\$191.00	\$19,100.00
71	Furnish and Place Temporary Striping	5846	LF	\$1.35	\$7,892.10	\$0.70	\$4,092.20	\$0.60	\$3,507.60	\$0.90	\$5,261.40	\$1.00	\$5,846.00
72	Furnish & Place 6" Thermoplastic (double yellow)	3373	LF	\$2.00	\$6,746.00	\$1.80	\$6,071.40	\$2.10	\$7,083.30	\$2.00	\$6,746.00	\$2.00	\$6,746.00
73	Furnish & Place 6" Thermoplastic yellow 10'-30' skip	1020	LF	\$1.00	\$1,020.00	\$1.10	\$1,122.00	\$1.20	\$1,224.00	\$0.86	\$877.20	\$1.00	\$1,020.00
74	Furnish & Place 18" Thermoplastic (solid yellow)	83	LF	\$3.00	\$249.00	\$2.70	\$224.10	\$2.90	\$240.70	\$2.20	\$182.60	\$4.00	\$332.00
75	Furnish & Place 12" Thermoplastic (crosswalk)	874	LF	\$2.00	\$1,748.00	\$1.80	\$1,573.20	\$2.20	\$1,922.80	\$2.50	\$2,185.00	\$2.00	\$1,748.00

Avon	ndale Stormwater Improvements	;			CO, LLC		ipeline, Inc.		e Contractors, Inc.		Contracting Corp.		ng & Development		n Incorporated
	6/12/2017				eridan Street		NW 42 Ave		lane Farms Rd		NW 18th St		NW 98 Avenue		V 11th Street
				Hollywo	od, FL 33021	Opa-Lo	cka, FL 33054	Welling	ton, FL 33414	Pompano	Beach, FL 33069	Hialeah G	ardens, FL 33018	Deerfield	Beach, FL 33442
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
76	Furnish & Place 24"														
70	Thermoplastic (stop bar)	496	LF	\$4.00	\$1,984.00	\$12.00	\$5,952.00	\$7.00	\$3,472.00	\$6.62	\$3,283.52	\$3.50	\$1,736.00	\$3.85	\$1,909.60
77	Furnish & Place Pavement														
,,	Message & Symbols	5	EA	\$150.00	\$750.00	\$12.00	\$60.00	\$360.00	\$1,800.00	\$325.00	\$1,625.00	\$138.00	\$690.00	\$77.00	\$385.00
78	Furnish and Place Reflective														
76	Pavement Markers	300	EA	\$5.00	\$1,500.00	\$10.00	\$3,000.00	\$7.00	\$2,100.00	\$7.50	\$2,250.00	\$4.00	\$1,200.00	\$3.85	\$1,155.00
79	Furnish and Install Sod	30800	SY	\$4.00	\$123,200.00	\$3.00	\$92,400.00	\$3.00	\$92,400.00	\$3.00	\$92,400.00	\$4.50	\$138,600.00	\$3.47	\$106,876.00
80															
- 00	Furnish and Install Type D Curb	84	LF	\$35.00	\$2,940.00	\$18.00	\$1,512.00	\$55.00	\$4,620.00	\$20.00	\$1,680.00	\$19.50	\$1,638.00	\$46.00	\$3,864.00
81	Furnish and Install Guardrail	45	LF	\$70.00	\$3,150.00	\$85.00	\$3,825.00	\$86.00	\$3,870.00	\$185.00	\$8,325.00	\$208.50	\$9,382.50	\$60.00	\$2,700.00
82	Furnish and Install Major Trees	19	EA	\$400.00	\$7,600.00	\$650.00	\$12,350.00	\$2,100.00	\$39,900.00	\$1,000.00	\$19,000.00	\$1,180.00	\$22,420.00	\$880.00	\$16,720.00
83	Furnish and Install Minor Trees	4	EA	\$200.00	\$800.00	\$450.00	\$1,800.00	\$1,400.00	\$5,600.00	\$300.00	\$1,200.00	\$375.00	\$1,500.00	\$660.00	\$2,640.00
84	Indemnification	1	LS	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
			•	Total Price	\$3,189,326.33	Total Price	\$3,389,782.50	Total Price	\$3,578,000.00	Total Price	\$3,687,243.05	Total Price	\$3,715,747.20	Total Price	\$3,728,989.00
		_					_		·				·		
								·		·			·		

Substantial Project Completion
Final Project Completion
Conflict of Interest
Drug-Free Workplace
Local Business Participation
B
Percentage
Small Business Enterprise
Small Business Enterprise

240	240	240	240	240	240
270	270	270	270	270	270
No	No	No	No	No	No
Yes	Yes	Yes	Yes	Yes	Yes
6.9%	10%	15.6%	23.1%	2.82%	32.73%
100%	90%	17.2%	1.7%	8.13%	1.79%
Agree	Agree	Agree	Agree	Agree	Agree
Yes	Yes	Yes	Yes	Yes	Yes

Avon	dale Stormwater Improvements			Intercounty Er	· ·		nderground Ind.		nternational, Inc		Excavation Corp	Lanzo Construction Co.	
	6/12/2017			1925 N.W			outh River Drive		N 27th Avenc		Sth Ave, Ste 101		E 5th Ct.
			1		ach, FL 33069		i, FL 33142		Beach, FL 33069		, FL 33015		each, FL 33441
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
76	Furnish & Place 24"	496	I.F.	\$4.00	\$1,984.00	\$4.10	\$2,033.60	\$4.40	\$2,182.40	\$5.00	\$2,480.00	\$5.00	\$2,480.00
	Thermoplastic (stop bar)	496	LF	\$4.00	\$1,984.00	\$4.10	\$2,033.00	\$4.40	\$2,182.40	\$5.00	\$2,480.00	\$5.00	\$2,480.00
77	Furnish & Place Pavement Message & Symbols	5	EA	\$120.00	\$600.00	\$230.00	\$1,150.00	\$110.00	\$550.00	\$315.00	\$1,575.00	\$590.00	\$2,950.00
70	Furnish and Place Reflective			,	,	,	, ,	,	,	,	, ,-	,	, ,
78	Pavement Markers	300	EA	\$3.60	\$1,080.00	\$5.60	\$1,680.00	\$4.00	\$1,200.00	\$6.00	\$1,800.00	\$5.00	\$1,500.00
79	Furnish and Install Sod	30800	SY	\$1.60	\$49,280.00	\$4.20	\$129,360.00	\$7.50	\$231,000.00	\$4.04	\$124,432.00	\$2.00	\$61,600.00
80	Furnish and Install Type D Curb	84	LF	\$48.00	\$4,032.00	\$34.00	\$2,856.00	\$18.00	\$1,512.00	\$15.97	\$1,341.48	\$50.00	\$4,200.00
81	Furnish and Install Guardrail	45	LF	\$218.00	\$9,810.00	\$120.00	\$5,400.00	\$62.00	\$2,790.00	\$181.19	\$8,153.55	\$60.00	\$2,700.00
82	Furnish and Install Major Trees	19	EA	\$1,200.00	\$22,800.00	\$790.00	\$15,010.00	\$2,000.00	\$38,000.00	\$1,740.78	\$33,074.82	\$900.00	\$17,100.00
83	Furnish and Install Minor Trees	4	EA	\$1,000.00	\$4,000.00	\$56.00	\$224.00	\$2,000.00	\$8,000.00	\$1,250.00	\$5,000.00	\$400.00	\$1,600.00
84	Indemnification	1	LS	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
				Total Price	\$3,761,715.10	Total Price	\$3,792,555.30	Total Price	\$3,949,586.30	Total Price	\$3,999,999.99	Total Price	\$4,061,400.00
			•		<u>.</u>		<u> </u>						
	Substantial Project Completion	<u> </u>		24	40		240		240		240		240
	Final Project Completion				70		270		270		270		270
	Conflict of Interest				lo		No		No		No		No
	Drug-Free Workplace	<u> </u>		Y	es		Yes		Yes	`	Yes		Yes
	Local Business Participation												
	Percentage	<u> </u>		65	5%		1.1%		0%		0%		18%
	Small Business Enterprise												
	Participation Percentage	<u> </u>	15%				73%	4.98%		100%			15%
	Terms & Conditions	1		Ag	ree		Agree		Agree	A	gree	A	gree
	Acknowledgement of Addenda			Y	es		Yes		Yes	,	Yes		Yes